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 فر ان صنیعی دبیرست

 پاسخنامه ریاضی 

 جلالی 

 

1 - 

𝑥2 + 𝑥2 = (2√3)
2

 

2𝑥2 = 12 → 𝑥2 = 6 → 𝑥 = √6 

محیط  مربع  = 4√6 

 

2 - 

 الف( 

𝑥2 + 4𝑥 + 4 = 12 + 4 

(𝑥 + 2)2 = 16 

𝑥 + 2 = ±4 

𝑥 = 2, −6 

 ب(

∆= 𝑏2 − 4𝑎𝑐 = 49 + 120 = 169 

𝑥 =
−𝑏 + √𝑏2 − 4𝑎𝑐

2𝑎
=

7 + 13

12
=

5

3
 

𝑥 =
−𝑏 − √𝑏2 − 4𝑎𝑐

2𝑎
=

7 − 13

12
= −

1

2
 

 

3 - 

3(2)2 − 2𝑚 − 10 = 0 → −2𝑚 = −2 → 𝑚 = 1 
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4 - 

5

𝑥 + 2
−

𝑥

2𝑥 − 3
= 0 

5(2𝑥 − 3) − 𝑥(𝑥 + 2)

(𝑥 + 2)(2𝑥 − 3)
= 0 

10𝑥 − 15 − 𝑥2 − 2𝑥

(𝑥 + 2)(2𝑥 − 3)
= 0 

−𝑥2 + 8𝑥 − 15 = 0 

−(𝑥 − 5)(𝑥 − 3) = 0 

𝑥 = 5,3 

5 - 

𝑏 + 1 = 4 → 𝑏 = 3 

3𝑎 − 1 = 5 → 𝑎 = 2 

 

6 - 

شیب خط  =
𝑦2 − 𝑦1

𝑥2 − 𝑥1
=

−5 − 1

4 − 1
= −2 

𝑦 = 𝑎𝑥 + 𝑏 

1 = −2(1) + 𝑏 → 𝑏 = 3 

𝑦 = −2𝑥 + 3 

 

7 - 

طول راس  سهمی  =
−𝑏

2𝑎
=

4

4
= 1 

عرض  راس  سهمی  = 2(1)2 − 4(1) + 5 = 3 

(1,3) 
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8 - 

 الف(  

600𝑥 − (𝑥2 + 500𝑥 − 200) = −𝑥2 + 100𝑥 + 200 

 

 ب(

طول راس  سهمی  =
−𝑏

2𝑎
=

−100

−2
= 50 

 ج( 

عرض  راس  سهمی  = −(50)2 + 100(50) + 200 = 2700 

 

 الف(آمارگیری -9

 ب(دورافتاده 

 ج(جامعه آماری 

 د(مد 

 ه(چارک اول و سوم 

 3و(
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 72ز(

 


